Paper-Maker Monika Awasthi
Directions (1-5): RFIfaf@a SR #1 tarrqd® sreaer fifard 3R A e 2 geat

& 3 -

B AFTE, F,G, H, P, Q, R3S Tsh gollepR AT & IRI IR ST YFR S5 ¢ g &
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R likes a colour.

Q1L fPF=fafla # & e 9Hg FT I & 910 F gE T WIS AFa 3R F & &
ALY A FlT daT§?
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(b) G

(c) a8 =afea o el T ¥ §

(d)H

(e) I8 caferd TS =frel 17 Teig &

L1Difficulty 2

QTagsRectangular/square seating arrangement

Q2. fararfaf@a ufa # ¥ IR ve fAfad w7 & v A% ¥ 3k v wagg 1 fasfor Fa €
g & Pl 30 TAE W Hafla A &2

(@ E

(b) S

(c) 98 =afaa o 3m%e Idic &

(d) Ig =afFa o 3P aie; &

(e) G
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Q3. Hthe 3T THE HYa aTel & Heel #, R T TUTT FIT 87
(a) 91T & T

(b) S eI

(c) STV & g@r

(d) e & frRT

(e) 8 qTT
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Q4. H & gIU AT ¥ 1 31 W, H 3R 37T I3 HIA a1l SqTFd & ALY fhdx safaa
382

(a) 1S TET

(b) T

(c)ar

(d) et

(e) IR
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Q5. 8T 19T 9HE il aTe) eI fdd & Qg &l do1 32

(a) 98 <afFd T8 @he T 94E &

(b)E

(c) 9g <afed Tord el 71 9dg ¢

(d)R

(e)F
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Directions (6-10): & 71§ SHRT F LAATEF ¢ 3R A T T weat F 3w fifre-
Teh e 3R TEAT g AT HAMT T S Qsel IR TEI3HT T Teh geTqe dfer &Y el g,
ot 98 Tl TROT H U fARad T &7 IegeRor X §U 3¢ gafeyd Hdr gl
Ffaf@d seqe 3R qoredawr & T 3egRT &

§e19< : stars 66 37 monsoon 19 wonder 53 inside 48 26 amount night

IUT | : amount stars 37 monsoon 19 wonder 53 inside 48 26 night 65.
IOT 1] : inside amount stars37 monsoon 19 wonder 48 26 night 65 54.



YIOT 1] : monsoon inside amount stars 37 19 wonder 26 night 65 54 47.

YIOT IV : night monsoon inside amount stars 19 wonder 26 65 54 47 38.

YIOT V : stars night monsoon inside amount 19 wonder 65 54 47 38 25.

YIOT VI : wonder stars night monsoon inside amount 65 54 47 38 25 20.

3R =ROT VI 3UGerc SHGEAT T JHTTH TRXOT & |

3UYF TG AT =0T 3 377807 fordr 91T Tt & 3ie7an, v 7w serqe & forw
fAFfaf@d gcde uRe & Iugerd wROT A HITST|

ge49c: longer 57 24 suffer 74 trunk 35 without 89 42 rapid further

Q6. T & & Fie-H =xor e 1 frfaf@a smseqe gem?
trunk suffer rapid longer further 24 without 90 73 58 41 36.

(a) I

(b)Iv

(c) VI

(dV

(e)II
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Q7. STTEYT Y IO &t & fw foraar aolt Y sraegerar ef?
(a) VI

(b)Vv

(c)1v

(d) vII

() 3oTH & IS oFgT
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Q8. A & & FlT-771 =0T 111 FImr?

(a) rapid longer further 24 suffer trunk 35 without 42 90 73 58.
(b) longer further 57 24 suffer trunk 35 without 42 rapid 90 73.
(c) rapid longer further 23 suffer trunk 35 without 41 90 73 58.
(d) further longer 57 24 suffer 74 trunk 35 without 42 rapid 90.

(e) ST T IS QT
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Q9. TROT VI #, ‘suffer’, ‘41’ ¥ GFafAT & 31X ‘longer’, 73’ ¥ =T 81 58 AT v
H ‘rapid’ fFaw gFafda g2



(a) 23

(b) 36

()90

(d) 58

(e) 73
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Q10. TROTV &, fF=T & § FleT-AT erea/HEAT 53 TYUTT W FHT (1T H/)?
(a) 73

(b) without

()90

(d) further

(e) longer
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Directions (11-14): Y3 ¥ 19 & 7€ FATTpiY 9T e 8-
(i) A% B & 3T A, BHT 4T §.

(i) A @ BT IT A BH AT .

(i) A$ B &7 37T A, B &T [T §.

(iv) A* BT 3T A BH I7 &.

(VVAOBHI IHTA BH HS §

(vi) A# B &I 3T A, B & GG ¢

Qll. AT A FlT aTcaTF I ATaT e &F 1, Y A AT s ar 82
@QT@P*ZO©J%QS$Y

MQNZ@T*Y

AY@CTOJ$P%Q

AY@RZOE%T*Q

() 313 | 1S e
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Q2. AT AT FIT- NSE@I%RO M FFaer A M AT AT &2 (D 3itx Qa=at i
$ao UF & AT 8)

(@A) N

(b) E

()]
(dR



(e) TR FAET TohaT ST FehelT
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Q3. F ‘c#P#DSQ@ M T §, A Aafaf@a A sla-aracw &2
(a)P,CHT 3T &

(b)Q cHraTE

(©) D, C ¥ FsAeT &

(d) P, Q T Ieall &

(e) IS T =T8T &
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Q4. IR TIF ‘W*R@D % T O K$ Y UH &, dl meafaf@a & a sia-ar swew &2
(@) T,Y T 3hol &

(b) D,RFAT A &

(R, YHT TG

()T, KPT TSI ST AT &

(e)asracg &
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Q15. T YoY U AfYe @ Fgar ¢ &, “grert Rar A Rrar Fr swatdh waa & aqed”. a8
Al 38 739 @ fF v R wafta 82

(a) e 5o off

(b) dssTex

(c) Tt

(d) T

(&) 73 | IS Tt
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Solutions

Solutions (1-5):
Sol.



P (vellow)
(apple)E /Irx F(guava)

(green)S<T- SR (blue)

|
“H

(banana) \(]2/ (grapes)
(white)

S1. Ans.(c)

S2. Ans.(b)

S3. Ans.(c)

S4. Ans.(b)

S5. Ans.(d)

Solutions (6-10):

Sol. Students let us understand the Logic behind this Question and let’s understand how to
solve it. As a first step lets first understand the logic behind the Output. If you will see the
final output, you will observe the following:

(i) For words - All the words are arranged in alphabetical series in descending order from
left to right. That means the word which comes first in alphabetical series arranges first
and so on till the last word arranges.

(ii) For numbers - The resultant number in each step of input is obtained by adding 1 if, the
number is an odd number and subtracting 1 if, the number is an even number as per the
given input. Thus, the numbers are arranged in descending order (highest number
arranged first in step-1). The largest number arranges first, followed by the second largest
and so on till the smallest number which is arranged at the right end.

Input: longer 57 24 suffer 74 trunk 35 without 89 42 rapid further
Step I: further longer 57 24 suffer 74 trunk 35 without 42 rapid 90.
Step II: longer further 57 24 suffer trunk 35 without 42 rapid 90 73.
Step III: rapid longer further 24 suffer trunk 35 without 42 90 73 58.
Step IV: suffer rapid longer further 24 trunk 35 without 90 73 58 41.
Step V: trunk suffer rapid longer further 24 without 90 73 58 41 36.
Step VI: without trunk suffer rapid longer further 90 73 58 41 36 23.
S6. Ans. (d)

S7. Ans. (a)

S8. Ans. (a)

S9. Ans. (d)

S10. Ans. (c)

Solutions (11-14):
S11.Ans(a)



Sol.
Q(+)
CT=—Z(+)—J(-)—Y(+/-)
P(+)

S12.Ans(c)
Sol.

N&
E2—RZ _M
]| )

S13.Ans(b)
Sol.

D(+)

(+)P Q)
(+)C==(IM

S14.Ans.(d)
Sol.

R(-) T(+) K{+)

w2l _p? vy

S15.Ans.(c)



